[ N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

17 7] T
2 o
2 =
=4 o
I €10
g 2
x [%2]
Q =
B 8
=
& 10
1
§=] 8 v |
I I |
o4 o4 |
095 0,95t A
=20 -15 -10 -5 O 5 10 15 20 =20 -15 -10 - 5 10 15 20
TP dxy(PV) (cm TP dxy(PV) (cm
— Dmuwmgoooe&( ) (cm) y(BV) (em)
—— DOM CKFREFit-testLowP{_1000evt
—— DQM_CKFREFit-OR-testLowPt_1000evt
- DOM_CKFREFit-ORK-testLowP{_1000evt
[N of sin] —— DOM_CKFREFit-OR4-testLowPt 7i000evt
12} |2
Q o
] =
= °
o £ 10°
g E
< 1%}
Q c
g 8
= 2
& 10/
10
ie] o+
T T
o 24
N 8-06-04-02 0 02 04 06 0.8 0%, ~02 0 0.2 0.4 06 08
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
1%} n
Q = o
S : =
=4 N -
& 10 CRRRES R EERRE £10°
g E
< 1%}
Q c
IS IS
= 103 e 3 10?
@
. 10
o v 4 dl o v
I B ! T
o {i @
1 S 1
0.95! : . : ; 0.95! . ; .’ U
=30 -20 0 10 20 30 =30 -20 -10 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) |
1%} F n
2 [
2 =
£ °
& g10°
g =
x 1%}
Q c
8 8
N 1 E 2
g 10
10!
9 9 4.5 C
g 3 :
o4 @ ST
o.gsﬂ--:----- -H-
0.otl— A .
1 -1 -0.5 0 0.5

0.5 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


